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1) 1/gg of 258 2)  Convert the following improper 3) by + 35
fraction 5% + 51/g to amixed number
Answer: Answer: Answer:
4) 2 %g-2 19 5) Ys-1, 6) Y3, of 192
Answer: Answer: Answer:
7) 3/53 of 159 8) Convert the following fractioninto a 9) Convert the following fraction into a
mixed number: 9/ mixed number: 7/g
Answer: Answer: Answer:
10)  Share15intheratio 8:7 11) A number was shared in the ratio 12) 2Y5x 2711
1:2. The smaller share was 13. What
was the larger amount?
Answer: Answer: Answer:
13) 15 0f 26 14) 5%+ 325 15) 63/, x 47/g
Answer: Answer: Answer:
16) 5 4g-2 11, 17) Convert the following fraction into a 18) A number was shared in the ratio
mixed number: 12/, 6:15. The smaller share was 14.
What was the larger amount?
Answer: Answer: Answer:
19)  Share7intheratio 4:3 20) 4 Y,-3 27, 21) 6°/g+ 13/g
Answer: Answer: Answer:
22) Convert the following improper 23) Convert the following mixed number 24) 33/9 + 21/2
fraction 37/g + 41/3 to amixed 12/¢ to an improper fraction.
number
Answer: Answer: Answer:
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25) 1,1 1y 26) 39 - Y4 27) A number was shared in the ratio
10:3. The larger share was 20. What
was the smaller amount?

Answer: Answer: Answer:

28)  Share13intheratio 4:9 29) Ye x5, 30) Convert thefollowing fraction into a

mixed number: 12/5
Answer: Answer: Answer:

31) Convert the following improper 32) A number was shared in the ratio 33) Convert the following improper
fraction 21/q + 51/, to a mixed 10:4. The larger share was 15. What fraction 5°/7 + 63/, to a mixed
number was the smaller amount? number

Answer: Answer: Answer:

34) 2lgx 2y 35)  Share20intheratio 4:6 36) 545 x 6%/

Answer: Answer: Answer:

37) 65+ 4115 38) 6 23-4 19, 39) Convert thefollowing fraction into a

mixed number: &/
Answer: Answer: Answer:

40) Convert the following improper 41) A number was shared in the ratio 42) Share 15intheratio 7:8
fraction 3%/¢ + 21/, to amixed 1:2. The smaller share was 9. What
number was the total amount shared?

Answer: Answer: Answer:

43) 314- %119 44) ¥+ 45) 523+ 42Ig

Answer: Answer: Answer:

46) Convert the following fraction into a 47) 125+ 3319 48) Yo+ Y0
mixed number: 10/,

Answer: Answer: Answer:
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49) 25/6 + 27/8 50) 1/2 -y 12 51) 2/4 X 3/8
Answer: Answer: Answer:
52) 4Ygx 18/, 53)  Sharel13intheratio 6:7 54) 3 B5-2 g
Answer: Answer: Answer:
55) 246 x 5317 56) 6/-%114 57) Convert the following improper
fraction 5% + 24/g to amixed
Answer: Answer: Answer:
58) Convert the following fraction into a 59) A number was shared in the ratio 60) Convert the following improper
mixed number: &/ 2:6. The smaller share was 18. fraction 11/, + 6/ to a mixed
What was the total amount shared?
Answer: Answer: Answer:
Total: / 60
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1)3

8) 41/,

15) 3229+ 5,
22) 8%y
29) Sy

36) 377+19
43) 30

50) 5712

57) 8%/14
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2) 103954
9) 1Y/g

16) 3%
23) 43

30) 2%/
37) 183445
44) 13315
51) 3/
58) 1%/5

3) 114
10)1:14
17) 6%,
24) 1143
31) 719
38) 114,
45) 115
52) 740+¢3
59) 72
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Answers:

227,
11) 26
18) 35
25) Wisg
32)6

39) 11/3
46) 21/,
53)1:12
60) 83/14

5) Y1,

12) 547+5
19)1:6
26) Y,

33) 1213/,
40) 6

47) B+g5
54) 15/

GENERATOR

6) 6
13) 13

20) Y755
27)6

34) Y63

41) 27

48) 3Y3

55) 1410: 5,

GCSES

79

14) 16+
21) 478+g9
28)1:12
35)2:18
42)1:14
49) 8+ 9
56) 24177
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